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QUESTION 1

Which is true about security rules on a compute node? 

A. The port used for HTTPS connections is enabled by default based on a predefined security rule. 

B. A security rule can restrict IP addresses that can connect to a database instance on a compute node. 

C. A new database deployment on a compute node automatically enables a set of predefined security rules. 

D. New security rules can be defined to use only the TCP protocol but multiple port numbers. 

E. A compute node port can be enabled only if it is associated with an existing security rule. 

Correct Answer: C 

 

QUESTION 2

Which two are true about Oracle Database Cloud Service (DBCS)? (Choose two.) 

A. Third-party tools can be used with database instances in the cloud. 

B. Oracle-supplied tools can be used with database instances in the cloud. 

C. Database instances in the cloud can be accessed only by using SSH. 

D. DBCS only creates compute nodes; the Oracle Database software must be installed and the database created. 

E. Database instances in the cloud can be accessed only by using Oracle*Net. 

Correct Answer: BC 

 

QUESTION 3

Which two statements are true about the tablespace SEGMENT SPACE MANAGEMENT clause? (Choose two.) 

A. It applies only to tablespaces with uniform extent size. 

B. It overrides the DEFAULT STORAGE clause specified for a tablespace. 

C. It specifies whether used and free extents are tracked using free lists or bitmaps. 

D. It specifies whether users have direct control over space allocation for the objects in a tablespace. 

E. It applies only to permanent tablespaces. 

F. It applies only to smallfile tablespaces. 

Correct Answer: CD 
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QUESTION 4

Which two are true about RETENTION GUARANTEE? (Choose two.) 

A. It is a tablespace attribute. 

B. It prevents FLASHBACK DATABASE operation failure. 

C. It prevents out-of-space errors. 

D. It prevents "Snapshot too old" errors. 

E. It is a static parameter. 

Correct Answer: AB 

 

QUESTION 5

Which two are true about instance recovery? (Choose two.) 

A. It is guaranteed to complete within fast_start_mttr_target number of seconds. 

B. Archived REDO log files are required to perform instance recovery. 

C. The database opens after the roll forward phase of instance recovery. 

D. It is performed when mounting a database. 

E. Archived REDO log files are never required to perform instance recovery. 

F. It occurs after a SHUTDOWN IMMEDIATE. 

Correct Answer: AC 
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